
 

 

 
What’s Included in the Kit 

 (2) Billet Sway Bar Drop-Forward Brackets 

 Hardware Kit: 

o (4) M10 x 40 ST100 Bolt 

o (4) 3/8” x 1.25” Bolt 

o (4) 3/8” Locking Washer 

o (4) 3/8” Flat Washer 

 

Installation Instructions 

 

1. Remove the four OEM bolts (2 per side) holding the O.E.M 

sway bar to the frame and remove O.E.M sway bar. 

2. Position Sway bar Drop-Forward Brackets on the frame mount 

and use supplied M10 Allen Bolts to secure the drop to the 

frame. In the counter-sunk locations 

3. Secure the factory sway bar to the threaded holes in the drop-

forward brackets using provided 3/8” Bolt, Washer and Lock-

Washer. 

Note: Coat 3/8” bolt threads with anti-seize prior to threading 

them into aluminum drops. 

 

 

 

 




